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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct options from the
following : 1x5=5

e [Resrnee «[/ ua Teath! AR S 2

(A) (a) Which of the following agreements
is an executory contract ?

FEA® (@I IR T Hie
= AR

(i) Sale contract to sell future
goods

olkge W1 (e A aovies

Contd.



(i) Sale contract for goods
v fifs pie
(i) Sale contract for services

i f[fF pfe

(iv) Hire purchase agreement

(b) Who among the following appoints

a sub-agent?

e e Sogfefs Mo a2

(i) Principal

T IS

(i) Agent
sifsfid

(i) Both (i) and (ii)
(i) = (i) TROI

(iv) Third i’erson

T &

4 (Sem-2/CBCS) BL/G 2



(c) The Sale of Goods Act, 1930 came
into force on

5y e =izq, Yvvo A Iee e
(i) 1st May, 1930
> (¥, Y390
(i) 1st June, 1930
S T, Sd00
(i) 1st July, 1930
S GER, SH0o
(iv) 1st April, 1930
S @fge, sovo

(d) Registration of partnership firm
1S

TR efePm AGET T
(i) optional
TR
(i) compulsory
SNPGRS
(iii) Both (i) and (ii)
(i) S (ii) TG
(iv) None of the above
8[Jq OIS T
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(e) Who appoints the Central
Information Commissioner ?

@ o wyes @ e we

(i) The Prime Minister of India
SIET AN

(i) The President of India
SlTes qPAfS

(i) The Chief Justice of the
Supreme Court

(iv) None of the above
S o] WY

(B) State whether the following statements
are correct or incorrect : 1x5=5

were fra [RYfomz wa @ s o s

() The Indian Contract Act came into
effect from 1st September, 1872.

OITOIT pi& Wiz, Sb93 579 S (GreHET
3l TR R |

(i) A deposit money in a bank is not
a bailment.

9Bl (35S Tl Al O 4RI R 2w |
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2,

(i) Oral contracts are always invalid.

eNfw pfe smm ©itay |

(iv) A promissory note can be crossed.

G2 Af G S o @@= o )

(v) A minor cannot be an agent.
GG RS AfoMiy 23 @RI |

Answer the following questions in brief :

2x5=10

WIS exTIe 5y e Al ¢
(a) What is contract?

pie &2
(b) Define the term ‘goods’.

‘T’ @ A
(c) Who can cross a cheque?

(I (6F ([N I AI?
(d) What is bailment?

fornt pfes e
(e} State the objectives of the Right to

Information Act.

wej SiEnE SRR Srapay falt |
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3.

Answer any four of the following questions :

o9x4=20

ewe emTER fwier sifdore s Tt

(a)

(b)

(c)

(d)

Explain the duties of bailee.
fErre FEIPTE A T4 |

Is a minor competent to enter into a
contract ? Justify your answer.

IS o pie IR AR Q@ I 27 72
(OIT TEsT WS Y& SRR |

What are the essential elements of a
contract of sale of goods ?

T3y [l pfer s Soimierz &6 & e

State the differences between bill of
exchange and promissory note.

RN g o oS siqm stdermz i

Write the circumstances under which
a banker can dishonour a cheque.

& & JRRRfoe r@IE o 937 SR IR
A ? |

Define a ‘public authority’ under the
RTI Act, 2005.

200¢ b B R WRAY THFS IO
IO Y ke |
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4. Answer any four of the following questions :

10%4=40

ese exprza Aepiear sifHbra ©aa ol ¢

(@)

(b)

(d)

“All contracts are agreement, but all
agreements are not contracts,”

Discuss the statement in the light of
essentials of a contract.

“IeCeTl pie IV IR i€, e TRl
AR e a7 17

Y& I TomATIRR eire B WIS
QAT 4 |

What is breach of contract ? State the
remedies available to the aggrieved
party in case of breach of contract.

2+8=10
piereesl T 2 pleonR (Fao Fodw <
@ & © dfoais ToeTa T 11

What is contract of agency? Explain

the essentials of a contract of agency.
2+8=10

GET pfe e Wb WreEn jieT Wiy
ToAMIFETZ AT 4

Discuss the right of an unpaid seller
against the buyer personally.
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o iR RTEOIR (O (K0 o1Ts 3
fere SRR Sl T

(e) State the rights and duties.of a partner
under the Indian Partnership Act, 1932,

SRS ST ST, S50 I TS SRAMIT

SRR S ARG Wl F0

(/ Who is a Public Information Officer ?
What are the duties of Public

Information Officer? 2+8=10
Irorea) o FEn @ e Aol O [KEER
WRAPTR SCEo- 4 |

(g) Discuss the procedure of incorporation
of limited liability partnership firm.

MNe @R weNm_] Af$vme Resasad
ARG AT T |

(h) What is contract of guarantee ? State
the essentials of a valid guarantee. Also
state the situations under which a
contract of guarantee is invalid.

2+8=10
?ﬁﬂﬁ%ﬁsmmamﬁaw@m
AT SER 11 | @it pie sitay (@
fafen sifefzfomz Sme w1
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